3aaa4dalN®e5
1.MPAMbIE 3ATPATbI:

A1=50+10=60
A2=50+10=60
A3=500+100=600



HAKJTAOHbBIE 3ATPATDI:
-3aKyrnKa MaTtepunasnos
A1=(40000/5)*1 3aka3=8000/100=80
A2=(40000/5)*2 3aka3a=16000/1000=16
A3=(40000/5)*2 3aka3a=16000/1000=16

-NIH)XXeHepHble paboThl
A1=(30000%*4)/(20*100)=60
A2=(30000*8)/(20*1000)=12
A3=(30000*8)/(20*1000)=12



-Hanaaka obopynoBaHus
A1=(41000%*%2)/(10*100)=82
A2=(41000*4)/(10*1000)=16,4
A3=(41000*4)/(10*100)=16,4

-TexHn4yeckoe obcnyxmBaHume
A1=222000/(10*100)=222

A2=222000/(10*1000)=22,2
A3=220000/(10*1000)=22,2



-CHabxeHune
A1=111000/(50*100)=22,2
A2=111000/(50*1000)=2,22
A3=111000/(500*1000)=0,22

1. CebecTOMMOCTb €AMHMLbI NPOAYKTA
Ha OCHOBe MeToaa No BMaaM sartpar

c/6 A1=60+80+60+82+222+22,2=466,2
c/6 A2=60+16+12+16,4+22,2+2,22=128
c/6 A3=600+16+12+16,4+2,22+0,22=646,8



2. CebecTOMMOCTb eAVHMULbI
npoAykKTa
(TpaAMULMOHHBIM METOAOM)

333000%10/(120%100)=277,5
c/6 A1=60+277,5=337,5
333000*%10/(120%1000)=27,75
c/6 A2=60+27,75=87,75
333000*%100/(120%1000)=277,5
c/6 A3=600+277,5=877,5



.CpaBHeHue cebecToOMMOCTM!:

466 2 337,5 3aBbllLIEeHa
- 128,82 87,75 3aBbllleHa
- 646,84 877,5 3aHMXKeHa




